
                                 1. DERECEDEN DENKLEMLER                                                                                                           TEST/1 
1)   𝑥 − 7 = 13  Ç.K=? 

 

2) 𝑥 + 8 = 10   Ç. 𝐾 =? 

 

3) 6𝑥 − 8 = 10   Ç. 𝐾 =? 

 

 

4) −𝑥 + 2 = 7   Ç. 𝐾 =? 

 

 

5) 5𝑥 − 10 = 20 − 𝑥    Ç. 𝐾 =? 

 

 

 

6) 𝑥 + 5 = 10  

    𝑦 − 3 = 2   𝑖𝑠𝑒, 𝑥. 𝑦 =? 

 

 

7) 𝑥 + 2 = 7 ,  

     𝑦 − 3 = 5 𝑖𝑠𝑒   𝑥 + 3𝑦 =? 

 

 

 

8)𝑥 +
2

3
= −

1

4  
 𝑜𝑙𝑑. 𝑔ö𝑟𝑒 𝑥 =? 

 

 

 

 

9) 2𝑥 −
1

3
=

5

2
   𝑖𝑠𝑒, 𝑥 =? 

 

 

 

 

10)   
𝑥−1

3
=

𝑥+1

5
  𝑖𝑠𝑒 𝑥 =? 

 

 

 

11)   
𝑥+1

3
= 𝑥−2

4
  𝑖𝑠𝑒 𝑥 =?  

 

 

 

12)  
2

𝑥−1
= 3

4
 𝑖𝑠𝑒 𝑥 =? 

 

 

 

13) 4(𝑥 + 2) = 20 𝑖𝑠𝑒 𝑥 =? 

 

 

 

14) −2(𝑥 − 3) = 3(−𝑥 + 4)  

ise x=? 

   

 

 

 

15)  2𝑥 + 4 = 2(𝑥 + 2) çözüm kümesini bulun. 

 

 

 

 

16)  3(𝑥 + 1) + 4(𝑥 − 2) = 30 old. göre, x kaçtır? 
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17)      5𝑥 + 3 = 6(𝑥 + 4) − (𝑥 − 3) 

old.göre x=? 

 

 

 

 

18)  
𝑥
2

− 𝑥
3

= 𝑥 + 5   ,  x=? 

 

 

 

 

 

19)  
𝑥 

5
+

𝑥

2
= 21     𝑥 =?  

 

 

 

 

 

20)    
3𝑥+1

4𝑥+2
=

1

2
   𝑥 =? 

 

 

 

 

 

21) 3(𝑥 + 4) − 𝑥 + 1 = 2𝑥 + 5 

ise x=? 

 

 

 

 

 
0

𝑏
= 0 

 

 
𝑎

0
 𝑡𝑎𝑛𝚤𝑚𝑠𝚤𝑧𝑑𝚤𝑟. 

 

DEVİRLİ ONDALIK AÇILIM 

0,2222222. . = 0, 2̅ 

5,134134134. . = 5, 134̅̅ ̅̅ ̅ 

 

 𝑎, 𝑏𝑐𝑑𝑒̅̅ ̅ =
𝑎𝑏𝑐𝑑𝑒−𝑎𝑏𝑐

9900
 

 

 1, 2̅ = 

 

 0,123̅̅̅̅ = 

 

 0, 234̅̅ ̅̅ ̅ = 

 

 2, 3̅ = 

 

 

 

 


